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Q&A

Question

Q1. Sirah Qalam, ayah 17 says:
%éb}—b% : the verb is ’J?\a with a ya’.
Shouldn't it be i—i?

Q2. Is there a difference between plgdw ! 8302 and « J2»?
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Fadilat al-Shaykh Dr. V. Abdur Rahim (:im aki>) replies:

|

Dear Br Junayd,

Pl qs=mde g

1. The third radical in ')’\-‘ is waw.

It is shi 4.
It is like:

o Y W N 8B,

So 'We tested' is U s,
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s -

2. There are ten points in which ‘_}Jb and e\:@-éa:o’ﬂ\ éjw'b differ from each

other. As it needs a lengthy answer, I will write about this separately

sometime later in sha’ Allah.

Hope this has helped you.

pOLudly

abdur rahim



